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oPleyenrsar : (1) omasg alamssesd sfursl uslaursl o arerer arausmeans silLntsgé

Qsreratad. oFslLSlelld  GapWlmpullar, ompsser s lluremfliwb

o | anqwnas Gsfallssald.

(2) ped S| G| &(HLIL awlenes L HGw GT(PGIeISH GO
23 &GN (Heugn G LWwaTuBSs Geuem (HLb. LILEIS6T uamrausn @ Cueisle

LweTU(HSSeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
u@é] -1 /PART -1

GOy (i) SOAS G s sEpsEw el wallssab. 5x1=5
(i) Qar@ssLiLL Harar Brar@ wrHn el safle Wsalbd gnLemLw alamLmus
Caip0s(0586 GIWLHLar alamLulmand Carsg) e (saiLd.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write the

option code and the corresponding answer.

1. @m Qsamy aLCumgar il Wlaawssd 9.1 V aar @ilulllul eterg. oiger

BleLLl e Snar Qi 364 MV ehs el Cuin® smmisssiqw Qumw WarGerm L wgliL?
(=) 40mA (<) 60 mA (@) 50mA (F) 45 mA

A zener diode is specified as having a breakdown voltage of 9.1 V with a maximum power

dissipation of 364 mV. What is the maximum current the diode can handle?

(a) 40 mA (b) 60 mA (c) 50 mA (d) 45 mA
2. Glearmy en_Gwimqe (psetend LweTur® erg ?

(@) i Guibd] (=) i@ Spsd

@) Wearanpsss renwliumear (M)  Qumss

The Zener diode is primarily used as :
(a) Oscillator (b) Rectifier (c) Voltage regulator  (d) Amplifier
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3.

Sareumd Wlaranm erhs erslls Csli4n@é swoneg :

L_DDO——'L y
'L—Cjo——’djo—.

(<) NAND GsL_ OR GaL_ (@) NOT GaL_ (%) Ex-OR GsL-
The given electrical network is equivalent to:

L—DDO———'L Y
E_Cw}*

(a) NAND gate OR gate (c) NOT gate (d) Ex-OR gate
wemr Cuh miLd m&masuﬂm sarGpr al&shE gnu earigl @ameular @iglQeuamt wrHpLILHeus)

.................. GTeTLILI(HID.
(o) sl uarCuhpd (=) eI&al uenrCuHLD
(@) sy s Lant GuhpLd (M)  odlQeuent LewrGupmLo

The variation of frequency of carrier wave with respect to the instantaneous amplitude of the
modulating signal is called:

(a) Phase modulation (b) Amplitude modulation

(c) Pulse width modulation (d) Frequency modulation

Qurgl @igaunw) Qumssiurs Cauame Qewiyw e yrmardladflear WlaGerm L1 Qu@mssd
0.96. e Blpriurar WarGenmm L b 7.2 MA erafled iqeury) WlarGermi L gl :

(=) 0.29 mA (<) 0.35mA @) 0.39mA (rF) 0.43 mA

The current gain for a transistor working as common-base amplifier is 0.96. If the emitter current
is 7.2 mA then the base current is

(a) 0.29 mA (b) 0.35mA (c) 0.39 mA (d) 0.43 mA
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GO : ereavauCuend prea@ allemés@ns @ allenwallssab. alleamm erant 11-6@ &L LTWILOTE

Note

6.

@ﬂmpma‘ﬂéassmm. 4x2=8
:  Answer any four questions. Question No. 11 is compulsory.

316| CFTeme6e | — CUETLINISH6|LD.

Define skip distance.

Mg, L6 eTaUger GlLmmeT ereimer ?

What do you mean by doping?

Qsri&Slurer omeeisErsstal LTsOsersear (Barkhausen) blubgsmearsamer samis.
Give the Barkhausen conditions for sustained oscillations.
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ETTLIETSE S0 CT@TDIE) GTaTam ? DISET UMSSHET WTeneU ?

What is meant by biasing? Mention its types.

® GTeTMiHS LHY Upelluerear GapsLsslsmar Caumu®ss)s.

Distinguish between intrinsic and extrinsic semiconductor.

GaAsP genp sLgslllame o maursasLiul L LED-aSmp g Qavafliu@n geaflllar oamenersams
saHllgsse|b. QHss GmpaLsdullar ellwdasliul L o nnad Gl GQeatl 1.875 eV gy @Lb.
Qauafliu@Ew geflllar Finsmsww @ILlIs. (h = 6.6 x 1034 Js erens Qarers).

Determine the wavelength of light emitted from LED which is made up of GaAsP semiconductor

whose forbidden energy gap is 1.875 eV. Mention the colour of the light emitted
(Take h = 6.6 x 1034 Js).
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GO : eremaCuad prai@ s sens @ el welssayb. allam eranr 17-86@E &L LTwons

Note
12.

13.

14.

15.

16.

17.

allen_wieflé sayLb. 4x3=12
: Answer any four questions. Question No. 17 is compulsory.

Qsary e Cuin( erapred eraian ? g LwaTLThseT gGsamibd @rargmas GhiLillHs.
What is Zener diode? Mention any two uses of Zener diode.

le-orisallear pee Ceppsslmars saml Blmllssan.

State and prove De Morgan’s first theorem.

©8liCeuanr LeanrCUDDSSlaT BaTend LHMILD Senwsamear aufls ILBSg)s.

List out the advantages and limitations of frequency modulation.

aléa LaTCuppS s Comauuner LILmsEHL e el

Explain the Amplitude modulation (AM) with necessary diagrams.

Qurg e 8lpLiLme Blevew jenwolililed NPN wrrarsled far Wlarsnm @oli® uib euers.
Draw the circuit diagram of NPN transistor in Common Emitter Configuration.

Yereumpd Bletenwssé Erenwiiume Wlarandley 15V wpdley Weararpssd o erer Qe
aLGurlh uvwauhssiLL Qartarg.  LEp  Wlagal  euflurel  uruyn  WlerCerml b
SpSluapens sarBUly. peoadluaL eLCur® aeaé Qsrers.

In the given figure of a voltage regulator, a Zener diode of breakdown voltage 15V is employed.

Determine the current through the load resistance, the total current and the current through the
diode. Use diode approximation.

R, = 5000 I
——WWW —
I
> o2 g
QT A I
vV, o
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GO : Smasg allamss@rsEw el wallssaw. 3x5=15

Note : Answer all the questions.

18. (=) ()  Slpssse aampred ereran ?
(ii) @M 7 o SlHsSWlar UL euamrhg isar Cewea L iqmer allaTs @s.
SO
(=) @0 W @ Slpssilear el wpgd Qewau@n lssslmen alleuflssalLb.

(a) (i) What is rectification?
(ii) Draw the circuit diagram of a half wave rectifier and explain its working.
OR
(b) Explain the construction and working of full wave rectifier.

19. (©) e grradlevir srellurs Qswadubeims alleufl.
PNV
(=) @6l Qs ssae Qsriurag wLHY LFLL®S 26 sEisamer ol LyLeweaL bg)
aUHSIDG. BlumuLILBS gis.

(a) Transistor functions as a switch. Explain.
OR

(b) Fibre optic communication is gaining popularity among various transmission media.
Justify.

20. (®) wrmarélevry, oo updlurs CeweLpw allssams alleuflssab.
DG
(=) Osaflouren Bleradm LLSgL e rTadledi QupsSursas QewaLpeims
el seyb. 2 araf( OO CauaTui( e UG AIRISMET LS.

(a) Explain the working of the transistor as an oscillator.

OR
(b) Describe the function of a transistor as an amplifier with the neat circuit diagram.
Sketch the input and output waveforms.
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